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GRAMMAR REVISION – 13 

 
1. Every Turkish citizen over the age of 25 is 

eligible to be a deputy in Parliament ---- he or 
she has completed primary education and 
has not been convicted of a serious crime. 

 
A) with the idea that 
B) from the point of view that 
C) despite the fact that 
D) by the fact that 
E) on condition that 

 
2. The number of frauds in the US ---- the 

criminal uses someone else’s credit card 
number doubled to 162,000 cases in 2002. 
 
A) in which  
B) by whom  
C) of which  
D) which  
E) with whom 

 
3. Unlike many other European nations, Finland 

has not been the destination of large groups 
of foreign workers, ---- has it ever been a 
colonial power. 

 
A) and          
B) nor 
C) or 
D) also 
E) not 

 
4. Epidemiology, which ---- as a science until 

the 19th century, is a branch of medicine that 
investigates factors ---- to improved health, 
or the occurrence of a disease in a particular 
population. 
 
A) could not have evolved / having contributed 
B) had not evolved / to contribute 
C) has not evolved / to have contributed 
D) did not evolve / contributing 
E) could not evolve / to be contributing 
 

5. ---- physical activity can enhance physical 
functioning, reduce anxiety, stress, and 
depression, it also poses some hazards to 
one’s physical and psychological health.                
 
A) Although 
B) Since 
C) Whether 
D) In case 
E) Unless 
  
 
 
 
 

6. ---- surgeons in France had performed the 
first partial face transplant late in November, 
psychologists began to question whether the 
patient was mentally stable enough to handle 
the stressful, high-risk procedure. 
 
A) Suppose that 
B) So long as 
C) As soon as 
D) Because 
E) If 

 
7. ---- people have been diagnosed with 

cardiovascular disease (CVD), they typically 
enter a cardiac rehabilitation programme to 
change their lifestyle and thereby avoid 
subsequent CVD. 
 
A) Whereas 
B) After 
C) While 
D) Even though 
E) As if 
 

8. In veterinary medicine, federal governments 
and professional associations keep data on 
animal euthanasia and, ---- the research 
results obtained so far, have developed 
guidelines and procedures. 
 
A) in the hope of 
B) as of 
C) in case of 
D) in accordance with 
E) on behalf of 
 
 
 
 

9. The anaemia of folate deficiency, ---- DNA 
synthesis slows and the body’s cells lose 
their ability to divide, is characterized by 
large, immature blood cells. 
 
A) in which  
B) for whom  
C) how  
D) in that  
E) why 
 

10. ---- missing heat-shield tiles or a failed 
undercarriage door have allowed the 
airframe ----? 
 
A) Could / to melt 
B) Would / melt 
C) Might / to be melting 
D) Can / melting 
E) Will / be melting 
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11. In April 1953, Watson and Crick ---- the 
scientific world with a succinct paper ---- 
their model for DNA. 
 
A) were shaking / to explain 
B) had been shaking / to have explained 
C) have shaken / to be explaining 
D) shook / explaining 
E) had shaken / having explained  
 

12. Fish often spend much of their time in the 
deep, cool waters of a lake ---- oxygen levels 
there become depleted by decomposers. 
 
A) as if 
B) just as  
C) now that  
D) unless   
E) so as 

 
13. In 2002, ---- Australia’s Great Barrier Reef 

was hit hard by unseasonable warming, 95 
per cent of its coral was adversely affected.                

 
A) so that 
B) if 
C) when 
D) so long as 
E) in case 

 
14. ---- a violent storm is over, it leaves a cooler 

ocean behind, lowering the likelihood that 
more storms will flare up, at least not 
immediately. 

 
A) Once 
B) Even so 
C) Even if 
D) Since 
E) While 

 
15. Humans, like all warm-blooded animals, can 

keep their core body temperatures pretty 
much constant ---- differences in the 
temperature in the world around them. 

 
A) as of 
B) regardless of 
C) instead of 
D) in terms of 
E) because of 
 

16. The part of an animal ---- gases are 
exchanged with the environment is called the 
respiratory surface. 
 
A) how 
B) which  
C) whatever  
D) what  
E) where 
 

17. Perfectionism constricts people just when 
the fast-moving world requires more 
flexibility, and ----, it turns them into success 
slaves. 
 
A) consequently 
B) nevertheless 
C) still 
D) however 
E) contrarily 

 
18. ---- Americans are generally marrying less, 

they still marry, divorce and especially 
remarry at rates higher than in most other 
countries. 

 
A) As 
B) When 
C) Since 
D) Just as 
E) Even though 

 
19. ---- English contains a vast lexical 

inheritance from Latin, Persian has absorbed 
a great number of Arabic loanwords. 

 
A) As long as 
B) Because        
C) Even if 
D) Just as 
E) Whether 

 
20. Some 30 women are running in the Kuwaiti 

general election, ---- few, if any, are expected 
to win. 

 
A) so that 
B) in that 
C) whether 
D) because 
E) although 
 

21. Studying the origin of language was once 
thought to be ---- an endeavour ---- scientific 
societies actually forbade it. 
 
A) rather / than  
B) such / that  
C) not / but  
D) either / or  
E) both / and 
 

22. Long ---- as a rat poison, arsenic ---- to halt a 
deadly blood cancer called acute 
promyelocytic leukaemia. 
 
A) being used / can be shown 
B) using / was shown 
C) used / has been shown 
D) to be used / is shown 
E) having used / had been shown 
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23. ---- oral decongestants reduce cold 
symptoms by 20%, nasal sprays can reduce 
symptoms by as much as 70%. 
 
A) While 
B) Because 
C) Unless 
D) As long as 
E) Supposing 
 

24. ---- a new anti-viral drug is developed, 
scientists first test it on the hepatitis C virus.                 
 
A) Even if 
B) Before 
C) Since  
D) Because  
E) Whenever 

 
25. A brain abscess may be fatal ---- it is treated 

with antibiotics. 
 
A) but 
B) whereas 
C) just as  
D) unless 
E) in case 
 

26. Lycopene is an important part of the body’s 
cell protection system which neutralizes free 
radicals and ---- decreases the risk of 
cardiovascular disease.  
 
A) on the contrary 
B) on the way 
C) as well 
D) yet 
E) in this way 
 

27. Toxic amblyopic, usually involving only one 
eye, is a condition ---- retrobulbar neuritis, 
which usually affects both eyes. 
 
A) the same as 
B) similar to 
C) as regards 
D) according to 
E) as well as 

 
28. Recently, researchers have found that ---- 

certain genes remain activated long enough, 
they can dramatically enhance an organism’s 
health and extend its life span.  
 
A) even if 
B) while 
C) in case 
D) if 
E) although 

 
 
 

29. Tourists gathered to admire the mushroom 
clouds during nuclear tests in Nevada 
between 1951 and 1963 ---- at the time there 
was complete ignorance of the dangers of 
radioactive fallout. 

 
A) since 
B) so as to 
C) when 
D) so that 
E) unless 

 
30. Genetic engineering is primarily considered 

a field of applied microbiology, ----, the 
exploitation of microorganisms for a specific 
product or use. 

 
A) but rather 
B) as such 
C) and then  
D) for example 
E) that is 

 
31. A laptop maker recently released a model 

that lets users change the processor, 
graphics card and other parts by just 
removing one panel, ----spending hours 
disassembling the computer. 

 
A) due to 
B) on behalf of 
C) instead of 
D) with regard to 
E) in order to 
 

32. Wetlands filter out excess nutrients and 
pollutants by trapping them in roots and soil, 
---- plants and bacteria break them down into 
less harmful substances. 
 
A) where  
B) which  
C) wherever  
D) how  
E) whether 
 

33. For a long time now, Asia’s emerging 
economies ---- the world’s most dynamic, 
with GDP ---- at an annual rate of 7.5%. 
 
A) were / to have grown 
B) would have been / having grown 
C) have been / growing 
D) would be / to be growing 
E) are / to grow 
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34. ---- everyone appears to dislike a person who 
is known as a “gossip,” it is an exceedingly 
unusual individual who doesn’t enjoy a bit of 
gossip. 

 
A) If  
B) Unless  
C) Although 
D) Whenever  
E) Once 

 
35. ---- influencing how we think, digital 

technology is altering how we feel and how 
we behave. 

 
A) Despite  
B) Besides 
C) Whereas  
D) As if 
E) Owing to 

 
36. ---- scientists can tell, our prehistoric 

ancestors lived in relatively small groups 
where they knew everyone else in the group.                                  
 
A) Despite the fact that 
B) Apart from 
C) As far as  
D) As much as 
E) Unlike 

 
37. One type of family is the single-parent family, 

in   ---- children live with an unmarried, 
divorced or widowed mother or father.  
 
A) which   
B) that 
C) them   
D) where  
E) whom 

 
38. ---- being a personal relationship between 

two people, marriage is one of society’s 
most important and basic institutions. 

 
A) Instead of  
B) In addition to 
C) Because of  
D) In opposition to 
E) In case of 
 

39. A survey of 1,449 Finns found that married 
people and people living with a partner were 
50% less likely to develop dementia in later 
life, ---- single or divorced people had three 
times the risk. 
 
A) instead  
B) otherwise  
C) even if  
D) since  
E) whereas 

40. ---- certain lifestyle changes can result in 
weight loss for some, many obese patients 
need more efficacious interventions for 
weight reduction. 
 
A) Because  
B) Although 
C) When  
D) If 
E) As long as 

 
41. ---- doctors advise their patients to eat well 

and exercise for their health, they should be 
telling them to sleep well. 
 
A) Even  
B) Because 
C) Just as 
D) Although 
E) As if 

 
42. ---- are moods more under the spotlight than 

in our most intimate relationships. 
 
A) No sooner  
B) Neither 
C) Not only  
D) Not once 
E) Nowhere 

 
43. Chloroform is no longer used as an anaesthetic 

for several reasons, the most important of ---- is 
the relatively high risk of complications, 
including possible heart failure. 
 
A) that   
B) whose  
C) what   
D) which   
E) it 

 
44. Scientists ---- the common cold as ---- by a 

family of over 200 viruses. 
 
A) were regarded / having been caused 
B) are regarded / having caused 
C) regard / being caused 
D) have regarded / to have caused 
E) regarded / to have been caused 
 

45. In less-developed parts of the world, there 
are few modern urban water networks, ---- 
the people living in these areas do not have 
access to safe drinking water. 

 
A) so  
B) even if  
C) because  
D) while  
E) though 
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46. Every year, more than 15,000 scuba dives 
are performed off the coral reefs of Cayman 
Islands, ---- these sites can actually support 
only 5,000 dives per year without any 
damage to the reefs. 

 
A) since  
B) but  
C) if 
D) just as  
E) in case 

 
47. What you say about the problem may be true 

in theory, ---- in practice it does not 
contribute to the solution of the problem. 

 
A) when  
B) so that 
C) although 
D) for 
E) because 

 
48. Thanks to a newly developed battery-

charging device called “the Chargepod,” we 
will no longer have to use different chargers 
---- recharge different mobile gadgets, like 
cell phones and iPods. 

 
A) with reference to    
B) due to 
C) in order to  
D) with regard to 
E) according to 
 

49. Scientists recently completed the largest-ever 
astronomical survey of the sky, during ---- they 
retained images that are expected to help 
them understand the origins of galaxies. 
 
A) whose   
B) that    
C) when   
D) whom  
E) which 
 

50. Upon the completion next month of its 
renovation and expansion, the museum ---- 
its exhibition space and added an auditorium 
---- for performances and lectures. 
 
A) will have doubled / to be used 
B) doubled / to have used 
C) has doubled / to have been used 
D) doubles / being used 
E) had doubled / to use 
 
 
 
 
 
 
 

51. It is assumed ---- an educational programme 
should emphasize the valid aspects of the 
cultural and historical past. 
 
A) whereby  
B) since   
C) as   
D) that   
E) in case 
 

52. The most rewarding aspect of taking 
photographs is to be able to immortalize on 
your film people’s hearts, smiles, and soul ---- 
you can always feel like you are a part of their 
world. 
 
A) while                  
B) as though           
C) so that 
D) whereas          
E) whenever 

 
53. Painters ---- diverse ---- Goya, Manet, and 

Picasso were inspired by Titian and other 
Renaissance painters. 
 
A) as / as  
B) both / and  
C) not only / but also  
D) so / that   
E) such / as 
 

54. It is generally thought that animals love us ---- 
who or what we are. 
 
A) so long as  
B) no matter 
C) provided that  
D) because of 
E) for the sake of 

 
55. If there is one thing that is more astonishing 

than the ability of the adult human to talk, it 
is the process ---- he learns to do it. 
 
A) whichever  
B) where  
C) that   
D) however  
E) by which 
 

56. ---- the so-called swine flu turns out to be 
less frightening than first feared, it is only a 
matter of time before a deadlier one comes 
along. 

 
A) Unless                
B) Even if                
C) Whether 
D) While               
E) When 
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57. All efforts by the Chinese government to 
eliminate the most widespread parasitic 
infection in the country failed, ---- a new drug 
arrived in the 1980s that was said to be 
highly effective in controlling the disease. 

 
A) just as                
B) so that                
C) in case  
D) even after        
E) whereby 

 
58. After Hurricane Katrina hit the US city of New 

Orleans in 2005 and left it without electricity 
for many weeks, mold and spores easily 
grew in the still-habitable houses, ---- 
respiratory and skin problems are still 
widespread. 

 
A) because              
B) so                       
C) although  
D) yet                   
E) whenever 
 

59. Many surgeons believe that a patient ---- face 
bears a calm expression immediately before 
an operation is likely to require less 
anaesthesia during the procedure. 
 
A) what   
B) which   
C) whatever   
D) that   
E) whose    

 
60. In the developing world, the public-sector 

health care infrastructure is typically 
overwhelmed, which is not surprising 
considering ---- national governments spend 
on health as a share of national income. 

 
A) how little  
B) few   
C) so much   
D) just as much  
E) how many 

 
61. The existence of galaxies was not 

recognized until the early 20th century, ---- 
since then galaxies have become one of the 
focal points of astronomical investigation. 
 
A) even  
B) because  
C) but   
D) if  
E) whether 

 
 
 
 

62. A gemstone used in the making of jewellery 
must be durable, ---- it cannot withstand the 
process of being handled or shaped. 
 
A) thus                    
B) even if                
C) although 
D) or else            
E) while 

 
63. ---- it has a great potential for creating new 

organisms, experimental recombination of 
genes is viewed by some scientists as 
dangerous and unethical. 
 
A) As long as                      
B) Unless 
C) Just as                             
D) Before 
E) Because 
 

64. ---- does geology provide a better 
understanding of the Earth’s evolution and 
its present features, but it also serves 
society in a variety of practical ways. 
 
A) Either                  
B) So                      
C) Not only 
D) So long as       
E) Not once 

 
65. Geometry, ---- name is derived from Greek 

words meaning “earth measurement,” is one 
of the oldest branches of mathematics. 
 
A) as   
B) which   
C) that   
D) whose  
E) its 

 
66. ---- many people these days regularly use 

and rely on computers, many others do not 
even understand how the computers work. 
 
A) Though 
B) When 
C) Because 
D) In case 
E) If 

 
67. The world faces a future of “water wars” ---- 

action is taken to prevent international water 
shortage and sanitation issues escalating in 
conflicts. 

 
A) as long as 
B) whether 
C) since 
D) unless 
E) if 
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68. Parents normally do not have the fear that, in 
marrying their daughter or son, they are 
losing their child to someone else ---- a son-
in-law or daughter-in-law arrives. 

 
A) in case 
B) until 
C) as if 
D) so that 
E) whether 

 
69. ---- numerous reformist policies that have 

helped to improve the economic conditions 
in the country, the standard of living for the 
poor has improved very little. 

 
A) Despite 
B) Instead of 
C) In connection with 
D) According to 
E) As regards 
 

70. A caricature is often a drawing or painting ---- 
a person is ridiculed by exaggeration or 
distortion of his most obvious characteristics. 

 
A) more than 
B) in place of 
C) by means of 
D) in which 
E) as much as 

 
71. ---- survivors of childhood cancer do seem to 

have a higher risk of heart problems, the 
individual likelihood of this happening is still 
fairly small. 
 
A) Whether 
B) If 
C) Whenever 
D) Unless  
E) While     

 
72. The vast sums of money spent to fight 

diseases such as AIDS and malaria in the 
past ten years have saved many lives —- 
have also sometimes undermined health 
systems in poor countries.  
 
A) whereas 
B) since 
C) unless  
D) but 
E) so 

 
 
 
 
 
 
 
 

73. ---- climate change seems likely to threaten 
the entire world's health, an ever greater 
number of political leaders are insisting that 
something must be done to stop it. 
 

A) Even though 
B) Now that 
C) Provided that 
D) As if 
E) Even if 
 

74. A study by the US Substance Abuse and 
Mental Health Services Administration found 
that, among those ---- were seeking treatment 
for drug and alcohol addiction, the number of 
cannabis addicts rose from 12% in 1997 to 
16% in 2007. 
 

A) whose  
B) whom 
C) who  
D) which 
E) what 

 

75. The term “health illiteracy” refers to the 
condition where a person knows ---- about 
medical information and how to use it that it 
negatively affects his or her access to the 
health-care system. 
 

A) few 
B) as such 
C) many 
D) so little 
E) a few 

 

 

ANSWER KEY 

1 E 16 E 31 C 46 B 61 C 

2 A 17 A 32 A 47 C 62 D 

3 B 18 E 33 C 48 C 63 E 

4 D 19 D 34 C 49 E 64 C 

5 A 20 E 35 B 50 A 65 D 

6 C 21 B 36 C 51 D 66 A 

7 B 22 C 37 A 52 C 67 D 

8 D 23 A 38 B 53 A 68 B 

9 A 24 E 39 E 54 B 69 A 

10 A 25 D 40 B 55 E 70 D 

11 D 26 E 41 C 56 B 71 E 

12 D 27 B 42 E 57 D 72 D 

13 C 28 D 43 D 58 B 73 B 

14 A 29 A 44 C 59 E 74 C 

15 B 30 E 45 A 60 A 75 D 


